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Child Development and Pedagogy

| XIX-1
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Who is the father of Psychoanalytic
System?

(A) Wood Worth

(B) Sigmund Freud"

(C) Jung

(D) J.S. Ross

play an important role in the

education of students.
(A) Heredity

(B) Environment

(C) Both of the above
(D) None of the above

Cognitive development means :

(A) Transformation of received sensory
Information

(B) Elaboration of received Information

(C) Storage and recovery of Information

(D) All the above

What is the stage called from
conception to birth ?

(A) Pre-natal

(B) Infancy

(C) Later Childhood

(D) Pre-Adolescence

According to Jean Piaget, Children
develop abstract logic and reasoning
skill during :

(A) Sensorimotor stage

(B) Pre-operational stage

(C) Formal operational stage

(D) Concrete operational stage

P.T.O.
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Child Apperception Test (CAT) method
of Personality measurement was given
by -

(A) Skinner

(B) Bellak

(C) Holland

(D) Murray

How many cards are there for T.A.T.
(Thematic Apperception Test)?

(A) 10

(B) 20

(C) 30

(D) 40

Which of the following is not the
Principle of Growth and development ?
(A) Principle of Individual difference
(B) Principle of Self-Pacing

(C) Principle of Continuity

(D) Principle of Pattern

MLL is basically an approach which

assumes -

(A) All students can learn a task with
minimum level.

(B) Every Learning task can't be learnt.

(C) All objectives can't be achieved.

(D) None of the above.

In which area of the following, maximum
Transfer of Learning is possible?

(A) Memorization

(B) Generalization

(C) Perception

(D) Habit formation
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According to Piaget preconceptional

and intuitive Period is related to :

(A) Sensory motor stage
(B) Concrete operational stage
(C) Formal operational stage

(D) None of the above

Drive theory of motivation has been
given by -

(A) Victor Vroom

(B) Maslow

(C) R.S. Woodworth

(D) Skinner

Concept of Intelligence Quotient (IQ)
has been presented by -

(A) Wount

(B) Gilbert

(C) Willium Stern

(D) Simon

Multiple Intelligence theory was

propounded by -
(A) Spearman
(B) Thurstone
(C) Cattle

(D) Gardner

Identify the category which does not
describe types of transfer of Learning :
(A) Positive, Negative
(B) Horizontal, Vertica
(C) Unilateral, Bilatera
(D) One tailed, Two tailed
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If a child has mental age of 5 years
and chronological age of 4 years than
what will be the I1.Q. of child?

(R) 125 (B) 80

(C) 120 (D) 100

Thorndike has not given this law of
Learning-

(A) Law of Readiness

(B) Law of effect

(C) Law of Observing

(D) Law of Exercise

Which of the following is related with
teaching skill?

(A) Black-board writing

(B) Solving questions

(C) Asking question

(D) All of these

Important basis of operant conditioning
in Learning process is-

(A) Need

(B) Reinforcement

(C) Stimulus

(D) None of the above

What is the standard time duration of
a micro teaching cycle?

(A) 06 Min. (B) 12 Min.

(C) 24 Min. (D) 36 Minutes

Which method is effective In

Identification of problematic children?

(A) Developmental scale

(B) Case Study of the child

(C) Systematic observation of the
Child Behaviour

(D) All the above
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Socio-Cultural theory was propounded
by -

(A) Piaget

(B) John Hawk

(C) Skinner

(D) Vygotsky

Which type of students are included in
inclusive education?

(A) Only specific students

(B) General and specific students
(C) Only General students

(D) Multi lingustic and gifted students

Successful Inclusion needs-

(A) Capacity Building

(B) Involvement of Parents
(C) Motivation

(D) All of the above

Concept of mental retardation is -

(A) Average mental ability

(B) Less than average mental ability
(C) More than average mental ability
(D) None of the above

A teacher should be well versed with
the theories of learning because:

(A) It helps the teacher to know the
Needs of the Learners.

(B) It helps the teacher to understand
the attitudes and interests of the
Learners.

(C) It helps the teacher to know the
personality of the students.

(D) It ensures discipline in the

classroom.

P.T.O.




27

28

. st am & 9o e & A
(A) 3IEATS DI
(B) fawmmener &
(C) TRIH & Wrad &l
(D) faewsit @t v |ffd @

. e Sae (Ype) & 9= Je3d B
aify -
(A) = Il gfcerd
(B) THY W UIGUDHH T BRAT
(C) WIeTdl BT FENG Sila
(D) dTeid! GRT TEWAI Bl 3ot

9. wftufera Rrer & Twear FR g -

(A) THEE & HER |
(B) fererr-siftnmy Wil @ Ieaa
TUTaRT TR

(C) UTGH-GRidl DI Jepeea W
(D) 3eame ¥ fHgerds IRadT W

@ giferent & fren o mafiear &

ifed Fdiid -

(A) ST, Teai @t e it AR
gt &l

(B) wefhdl U | Fs®l W B ¢

(C) ¥rod | TEd B gol H Tsiodl
& Gy Yewq fear T 2

(D) @il amifsie uRkads &1 Add
< H e gl

SET-A

27

28.

29.

30.

XIX-1

Who should select the Instructional
Materials?

(A) The Teacher

(B) Head of the Department

(C) Principal of the institute

(D) A committee of experts

Main aim of schooling should be :

(A) High Pass Percentage

(B) Completion of Course in time

(C) Disciplined life of Children
(D) Acquisition of competencies
among children

Success of inclusive education depends

on :

(A) Community support

(B) High quality Teaching - Learning
materials

(C) High quality of Text books

(D) Attitudinal change among

teachers

Education of girls needs to be given

priority because '

(A) Girls happen to be more intelligent
than boys.

(B) Girls are less in number than boys.

(C) Girls have been discriminated
against boys in the past.

(D)- Girls can lead social change.
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Direction (Q. No. 31 - 32) : Complete the
sentences by filling in the blanks, choosing
one of the given alternatives.

z 3 B

Gita was known to be a , SO

nobody entrusted any important work
to her.

(A)

(B)
(C)
(D)
The police sprayed tear gas
on the protestors.

joker

worker
shocker
shirker
32.

(A) indirectly
(B) intensively
(C) indifferently

(D) indiscriminately
Direction (Q. No. 33 to 36) : Read the given
passage carefully and answer the questions
that follow by selecting the most appropriate
options.

Long ago men spent most of their time
looking for food. They ate anything they could
find. Some lived mostly on plants. They ate
the fruits, stems and leaves of some plants
and the roots of others. When food was
scarce, they ate the bark of trees. If they
were lucky, they would find a bird's nest with
eggs. People who lived near the water ate
fish or anything that washed ashore, even
rotten whales. Some people also ate insects
and small animals like lizards that were easy
to kill. |

Later, men learned to make weapons.
With weapons, they could Kill larger animals
for meat. These early people had big
appetike. If they killed an animal, they would

drink the blood, eat the meat and chew on
SET-A
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the bones. When they finished the meal,
there was nothing left.

At first, men wandered from place to
place to find food. But when they began to
grow plants, they stayed in one place and
ate what they could grow. They tamed
animals, trained them to work, and killed them
for meat. Life was a little better then, but
there was still not much variety in their
meals. Day after day, people ate the same
food.

Gradually men began to travel greater
distances. The explores who sailed unknown
seas found new lands. And in these lands
they found new food and spices and took
them back home.

33. What did men eat if there was
shortage of food?

(A) Rotten whales

(B) Bark of trees

(C) The root of trees

(D) A bird's nest with eggs

If men trained animals, they made the
animals for them.

(A)
(B)

34.

race

search

(C) work

(D) hunt

The phrase 'live on' in the passage
means-

(A) to eat a certain kind of food in
order to survive.

to eat greedily.

to eat anything that you are given

3

(B)
(C)
to eat.

to depend on plants and foods for

(D)

a livelihood.




36. At first men wandered from place to
place to find food. Then some of them
began to stay in one place. Why?

(A) because they began to grow
plants and ate what they could
grow.

(B) because they tamed animals and
Killed them for meat.

(C) because they trained wild animals
and killed them for meat.

(D) because they began to grow
plants and fruits and ate what
they could grow.

Direction (Q. No. 37 - 38) : Find out the

part that has an error in the sentence given

below. If the sentence is free from error, your

answer is (D).

37. If I was you / I would'nt accept / this

A B
project / No error
C D
38. The Director along with his assistants /
Al
nave thoroughly examined / the new
e
proposal / No error
G D

Direction (Q. No. 39) : Choose the word

nearest in meaning to the underlined words

in the sentence.
39. Heisa very hard working man
(A) Diligent

(B) Desirous
(C) Ridiculous
(D) Dominant

SET-A
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Direction (Q. No. 40) : Choose the word
opposite in meaning to the underlined word
In the sentence.
40. His behaviour with people was always
friendly.
(A) charming
(B) hostile
(C) courteous
(D) sincere
Direction (Q. No. 41) : Fill in the blanks
with the correct options to make the
sentence clear.
41. A Dbook is essentially not a talked thing,
but a written thing; and written not
with a view of mere but of

(A) communication, permanence

(B) enjoyment, fullfilment

(C) transportation, continuance

(D) delight, abandonment
Direction (Q. No. 42 to 45) : Read the poem
given below and answer the questions by
selecting the most appropriate options.

"Will no one tell me what she sings?

Perhaps the plaintive numbers flow

For old, unhappy, far off things,

And battles long ago:

Oris it some more humble lay,

Familiar matter of today?

Some natural sorrow, loss or pain,

That has been, and may be again?

What'er the theme the maiden sang,

As if her song could have no ending:

I saw her singing at her work,

And o'er the sickle bending;

I listened motionless and still;

And as I mounted up the hill;

The music in my heart I bore,

Long after it was heard no more."

P.T.O.
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'Plaintive' here means-
(A) mournful

(B)
(C)
(D)
'Humble lay' means-

(A) Serious words

(B) Simple song

(C) Exuberantthought

(D) Joyful melody

'The music in my heart I bore' means:
(A) 1 carried the memory of the song
(B) My heart was heavy with sadness
(C) My heart was full of deep feelings
(D) The music gave me great joy
'Familiar matters of today' means-

(A)
(B)
(C) important matters

(D) known incidents

Direction (Q. No. 46 to 49) : Choose the
correct alternatives to the sentences given

42.

joyful
longing
languishing
43.

44,

45,
current news
simple events of day to day

below.

46. A unit of pronunciation having one vowel
sound with or without surrounding
consonants is called-

(A) syllable

(B)
(C)
(D)

Commonly used may include
class participation, demonstration,
recitation, memorization or a combination
of these.

(A) Teaching methods

(B) Teaching skills

(C) Familiar examples

(D)
SET-A
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47.

Ideal evaluation

XIX-1

48. The problem of speaking English can be
solved by-
(A) Practising
(B) Building confidence
(C) Reading and speaking more
(D) All of the above
The problems faced by a teacher In
teaching English are:-
(A) Lack of teamwork and support
between students

(B) Lack of teaching aids.

(C) Over-crowded classrooms

(D) All of the above
Direction (Q. No. 50 - 51) : Give suitable
one word substitutes to the sentences from
the given alternatives.

49.

50. A person who insists on adherence to
formal rules or literary meaning.

(A) Scholar

(B) Pedant

(C) Pedagogue

(D) Literalist

The use of many words where only a
few are needed.

(A) circumlocution

(B) circumspection

(C) circumspeation

(D) circumvention

Direction (Q. No. 52) : Choose the following
alternatives from Direct/Indirect which best
expresses the sentence.

<3 &

52. Naren said, "Why are you still waiting

here Vinod"?

(A) Naren asked Vinod why he was
still waiting there.

(B) Naren asked Vinod that why he
was still waiting there,

(C) Naren asked Vinod why he is still
waiting there.

(D) Naren asked Vinod that why you
were still waiting there.




Direction (Q. No. 53 - 54) : Replace the
underlined idioms/phrases with the option
correct in meaning.
53. He advised his friends to do away with
their differences.
(A) Bury the hatchet
(B) Bury the dog
(C) Bury the corpse
(D) Bury the enemy.
54. He has the ability to speak easily and
persuade others with his words.
(A) gift of the goose
(B) gift of the horse
(C) aqift of the gab
(D) gift of luck
Direction (Q. No. 55 - 56) : In the following
questions, the sentences have been given
iIn Active/Passive Voice. From the given
alternatives, choose the one, which best
expresses the given sentence.
55.  We all know there is only one God.
(A) We are all known that there is only
one God.
(B) It is known to us all that there is
only one God.
(C) We have all known that there is
only one God.
(D) Only one God has been known by
us all.
56. He added up the money and found that
It was correct.
(A) The money was adf;led up and
found to be correct.
(B) Correct it was found and the
money added up. |
(C) The money added up by us was
found correct. |
(D) The money was cu:r'rectly added

up.

SET-A
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Direction (Q. No. 57 - 58) : Fill in the blanks

with the correct word in the options given

below:

7.

58.

29

60.

India is a noble, gorgeous land,

teeming natural wealth.

(A) which I

(B) with

(C) of

(D) in

Many diseases were formerly attributed

witchcraft,

(A) from
(B) to

(C) by
(D) in

A method of teaching English grammar

In which the language is taught not by
rules but by usage is :

(A) Informal method

(B) Inductive method

(C) Deductive method

(D) Incidental or Correlation method
A test which measures a candi'date's
overall ability in a language, and is not
related to a specific course is :

(A) Proficiency test

(B) Achievement test

(C) Diagnostic test

(D) Prognostic test

PIT.O' -




ﬁéﬂﬁﬂ%ﬁﬁﬁﬂmﬂaﬁrwg—é—wm

61.

62.

(61 | 64 Tb) B HalD IYGch Ik drel
fades &1 Tg= DI -

3 &l yPpla BIR WHA Al
v Seid a1 Bbel WU W; el W, faene
a1 fafim &0 ; &8l 39, IR AT WA
®0 | e Hid B ged ISP 37 99 HU H
A i 8, i 39D SFERM BN BRI
T @R g o e, dfed R aEed
g1 Afaftoa aremT & S ddel Tgpert SR
SRIIG & RY TaR, HdRE dlgd Hed-TaIR,
Pifcher-Biotd Fdpoal R el F&-gl
TR e & el foa &a €, 9 fawd
g7 mfers] €1 3 YBR 511 dact GRbIH
faemer IR freR & R ge Siemurd &
IR T § 3 g5 AH-ARIRST & &
fafeeraot wgpxor &t faemerar, weaar 3R
fitmar i@ s eca s e B U €, d
THEEN & O Yige a1 dged el
S B 3R US T Bid P ged by
3R T HHT TR & -
(A) HEaar @ Jar A
(B) Wl feror H
(C) e =T |
(D) JTHIEMA B I dHRA H
AE® 3 UPld & [bd-vd B9 DI Bl b
foe smavas AF €l
(A) WER 3R galsoid &Y 3
(B) TOR 3R 3RI<X I P
(C) @ 3R TR &Y @l
(D) Wt 3R wWrfd® &9 B
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63.

64.

XIX-1

HE® A UPHd & PIHA U4 HER WY @

qufT &= aTel Bl FAT BEPR TEEITd [l

g?

(A)  wmTfeTey

(B) Tl WD g&d Bid

(C) 3R gad

(D) wifeea S

ofd @ feR-TEesy’ @ He @l & Tl

&7

(A) WPl B AT UEHT | IH HiGT &
BHROT

(B) 1 I Y T S BRI

(C) WPId-S9 b BRI

(D) GWUT SAIA | HH-HIE b BROT

Frder : FrafalRea mifer @ wgaR q@ eyl

(65 | 68 ) & HallEID YYF IR ATl
faeT @1 Tad DI -

59 ¥9R g@ $&dT 8, I8l Did D
fore o 21 e 3R twad, ®9 3R &,
foan 3k gfe, o fayfodt 99R & TR
fpar wiifea &% of, Bfd & fow T8 k1 41
AHYUT ol 7, 39P Al 3R R Bl

a%q a1 gt g8 ameme 3R Fidh g8 b
3R o g &I & 3y 2l 59 e 3=
fegferal # 3@ 39 7 T, 39 T a8
®fd 7 /W g A & 37 T A
ac fa-ie BT &1 Bid 39 & & T

gl

. O & IR I Bid H fHF o7 I

BT 3aTD B-

(A) eTSi=dmdr

(B) & & ufc 3=
(C) fagH

(D) TP 5 Ridd




66. @D 2 T g Imemsi, et g8 Wi
3R T gU T & SIRGA B TT T &
(A) ®fd & fgHyor
(B) I B NHUYT & Hg
(C) 3iaq & I
(D) WTEMRUT TTTh T IHYT
67. ®fd 3lla" & fobT Tl A 3gferd 2R DI
T PRAT &
(A) Hifts g@ giaamst & et dex
(B) Sl o FHRS 3R @l B @d
7 @9 BRP
(C) erffFe adl &1 59 U &b
(D) 3fiad & GHRN ¥ UAH TRD
68. TP S Hid H IS Pidd & oI BT 3
& BT 8?
(A) 3§ g dnm o gair e, fawfsd
il 71 gl g & g3 B A
T |
(B) WreIRvT URRATAl F §F BT BRI
qH= |
(C) ®Tea DI Jitc &, IWT T vvad &
PR
(D) & & P Fell
69. it Rgra & siftrsmar 3wt a9 &2
(A) 3Teae™ (B) @™+
(C) P (D) &
70. IR 5= P B € -
(A) HREATA Tqdar
(B) Yaia Pume ‘R
(C) weredl aHi
(D) YHAPAR! dieT
71. S Mo ¥ feg e &1y fsar
T 8P
(A) &=
(C) 3raen
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79,

76,

¥ 7

78.

XIX-1
TR U & Hured feae fear?
(A) Y. HEER yae fgad
(B) §IY ¥UM YX AN
(C) 3aRd IHT= el
(D) ¥Rdg BRvT=
gfteHRiTa Hith TR & TS DI AP
(A) S IEHSTARS
(B) S ScoTHrARd
(C) St weamrd
(D) A Rt
Pl &7
(A) STTER (B) HMHE |
(€) foggma (D) WM '
WR' I BT dTH &- !
(A) 30ed |
(B) &R
(C) &R
(D) T | B3 &l
“SIRET FeR T Fet ¥ Fdperat 2 39 a9y
¥ T 6 A H P G PR -
(A) TROT (B) WBIEH
(C) 3mEH (D) =T
‘T8 T80 GaX &' 39 a1 § DI 91 LT
&?
(A) TRTED
(B) Hdhddrdd
(C) para®
(D) ¥ ¥ ®lg el
g foifd 1 3= g3 &-
(A) RISt forft )
(B) i forfr &
(C) san ferfu &
(D) 9Rar forfy &
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O o Ty —— (C) 3R FOR &1 291
80, WY 9T H [Goiaa T8l st 39% s = ;Egﬁ;q::i;;w&wﬁ

e B 9 & o0 37ard - | Rora a3 o a0 &

(A) Taed ToTs-forane (A) Y9Ne Fomi ® ster

B) W e (B) ¥IiNe Tem3 W IkeR

(C) ¥INT JONT DI HeIEar W Fewr

(C) UIKaI<® Hdic @) g .
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| (C) BF Il &7 How X 7e §
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STRe - (A) Bfeas (B) TEEtaS
(A) wfee (B) B | (C) #Heveast (D) gueds
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. o (A)
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(D) foRremys (D) favar a%q &1 9 91 @
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l Second Language - English XIX -1

Direction (Q. No. 61 to 63) : Fill in the blanks
with the correct word from the options.

61. Heis an authority Literature.

(A) on

(B)
(C)

of

in

(D) to

62. The house is infested rats.

(A) of

(B)

in

(C) with
(D) by

63. He boasted his accomplishments.
(A) of
(B) in
(C) at
(D) on

Direction (Q. No. 64 to 66) : Replace the

underlined

idioms/phrases with the option

correct in meaning.

64. He agreed to carry out my orders.

(A) execute

(B) maintain
(C) listen to
(D) refuse

65. Hetu

ned a deaf ear to my advice.

(A) listened

(B) agreed

(C) disregarded
(D) respected

SET-A
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66. There are black sheep in every

community.
(A) bad characters
(B) generous people

(C) shepherds
(D) ugly people

Direction (Q. No. 67) : Select the most
suitable conjunction and fiil in the blanks.

67. He plays In the orchestra and

as a soloist.
(A) both
(B) also
(C) among
(D) either

Direction (Q. No. 68) : Seject the most
suitable alternative and fill in the blanks.
68. you piease help me with this?

(A) would

(B) should

(C) shall

(D) must

Direction (Q. No. 62 to 71) : Select the
word with correct spelling for filling in the

blanks in the following sentences.

69. A disease in one that can be

passed on by physical contact.,
(A) contagious
(B) contiguous
(C) conteguous

(D) conteeguous

P.T.O.




/0. My role is to that of my

associates.

(A) complimentary
(B) complementary
(C) compleementary
(D) compliment

Z1. IS a word for the sweet course
of a meal :
(A) Desert
(B) Deserrt
(C) Dessert
(D) Dassart

Direction (Q. No. 72) : Choose the correct
pronoun (reflexive) to complete the sentence.
72. Jim bought a book.

(A) himself

(B) him

(C) themselves

(D) vyourself

Direction (Q. No. 73) : Choose the correct
auxiliary or modal verb out of the given
alternatives.
s T swim across the river when I
was young.
(A) could
(B) should
(C) might
(D) must

Direction (Q. No. 74) : Select the correct
antonym (opposite meaning) of the following.

74. India's struggle for freedom was led by
Mahatama Gandhi.
(A) Liberty
(B) Liberation
(C) Misery
(D) Slavery
SET-A
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Direction (Q. No. 75 - 76) : Select the most

appropriate word to fill in the blanks in the
given sentences.

75. A person who does not believe in the
existence of GOD is
(A) Bigot
(B) Auditor
(C) Egoist
(D) Atheist

/6. A person who hates mankind is
(A) Misanthrope

(B) Mercenary
(C) Honorary
(D) misogynist

77. Which of these cannot be termed as a
language skill?
(A) Reading
(B) Writing
(C) Speaking
(D) Thinking

/8. While teaching a language a student
should be treated as which of the
following?

(A) A model

(B) A subject

(C) A guinea pig

(D) A different individual

79. A phonemeisa:
(A) technique to improve pronunciation

(B) single sound unit
(C) sound pattern
(D) lexical item
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80. When languages are learnt without any
practice it is called as :

(A) leaming

(B) first language
(C) skimming

(D) erudition

81. A reading activity where students
focus on phonemic sounds, pronunciation
and intonation can be used to assess-
(A) analysis
(B) literary appreciation
(C) reading accuracy
(D) inference

82. Problems of spelling errors of the
students can be easily solved through :
(A) dictionary
(B) text books
(C) dictation
(D) teaching aids

Direction (Q. No. 83 to 86) : Read the
passage given below and answer the
questions that follow by selecting the most
appropriate option.

Long years ago we made a tryst with
destiny, and now the time comes when we
shall redeem our pledge, not wholly or in full
measure, but very substantially. At the stroke
of the midnight hour, when the world sleeps,
India will awake to life and freedom. A
moment comes, which comes but rarely in
history, when we step out from the old to
the new, when an age ends, and when the
soul of a nation, long suppressed, finds
utterance. It is fitting that at this solemn
moment we take the pledge of dedication to
the service of India and her people and to

the still larger cause of humanity.
SET-A

[21]

XIX-1
At the dawn of history India started on
her unending quest, and trackless centuries
are filled with her striving and the grandeur
of her success and her failures. Through good
and ill fortune alike she never lost sight of
that quest or forgotten the ideals which gave
her strength. We end today a period of ill
fortune and India discovers herself again. The
achievement we celebrate today is but a
step, an opening of opportunity to greater
triumphs and achievements that await us.
Are we brave enough and wise enough to
grasp this opportunity and accept the
challenge of the future? Freedom and power
brings responsibility. That responsibility rests
upon this Assembly, a sovereign body

representing the sovereign people of India.

83. When the world sleeps, what will India
awake to?
(A) life and freedom
(B) new morning
(C) democracy
(D) none of the above

84. The expression 'Tryst with destiny!'
means:
(A) to make a secret deal with
something that is destined for us.
(B) tocompromise with something
(C) to wait for something
(D) usual practices and religious rites.

85. Out of the following which one has the
opposite meaning to the word
'suppressed' in the passage-

(A) Subdue
(B) Crush
(C) Incite
(D) Conquer

PITIDI
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86. According to the writer what pledge
should be taken by the people of India
at this solemn moment?

(A) that they will celebrate it with
grand fervour

(B) that they will work for foreigners

(C) that they will work for the larger

cause of humanity

(D) None of the above

Direction (Q. No. 87 to 90) : Read the
passage given below and answer the
questions that follow by selecting the most
appropriate option.

As heart disease continues to be the
number one killer in the United States,
researchers have become increasingly

interested in identifying the potential risk

factors that trigger heart attacks. High fat
aiets and life in the fastiane have long been
known to contribute to the high incidence of
heart failure. But according to new studies,
the list of risk factors may be significantly
'onger and quite surprising.

Heart failure appears to have seasonal
and temporal patterns. A higher percentage
of heart attack occurs in cold weather and
more people experience heart failure on
Monday than on any other day of the week.
In addition, people are more susceptible to
heart attacks in the first few hours after
waking. Cardiologists first observed this
morning phenomenon in mid 1980 and have
since discovered a number of possible

Causes. An early morning rise in blood

SET-A
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pressure, heart rate and concentration of
heart stimulating hormones, plus a reduction
of blood flow to the heart, may all contribute
to the incidents of heart attacks between
the hours of 8:00 a.m. and 10:00 a.m.

87. What does the passage mainly discuss?
(A)
(B)
(C)

Cardiology

Diet and stress

Seasonal and temporal patterns
of heart attacks

None of the above

(D)

88. The word 'potential' could best be
replaced by which of the following?
(A) Harmful

(B) Hateful

(C) Possible

(D) Unknown

89. According to the passage, which of the
following is not a possible cause of many
heart attacks?

(A)
(B)
(C)

(D)

Decreased blood flow to heart
Increased blood pressure
Lower heart rate

Increase in hormones

90. Pick out the word from the passage,
which means, 'very likely to be
influenced or affected'.

(A) triggered

(B) stimulating

(C) susceptible

(D) temporal
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(C) YE=RU fHaen: aqa:

(D) Rresch: LR BRofGH

BIA: WaidaR doie @ e Sieat ybeiig
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Tfore XIX -1
Mathematics
91. 4/9, 10/21 dT 20/63 &I G&TH HHUGID 91. What is the H.C.F. of 4/9, 10/21 and
BN - 20/63 ?
(A) 4/189 (A) 4/189
(B) 2/63 | (B) 2/63
(C) 6/63 (C) 6/63
(D) T8 ¥ DI &l (D) None of these
02. UH-UD DIP HEI: 20% a1 B 15% & 92. Successive discounts of 20 % and 15%
BC ol & §o1d U 1 we & ar fba o are equivalent to a single discount of -
&Y gS-
(A) 35% (B) 17.5% (A) 35% (B) 17.5%
(C) 32% (D) 17 % (C) 32% (D) 17 %
93. dfka, b, cHI AT M & G ab+bc+ca=0 93. If the mean of a, b, c is M and
ab+bc+ca=0, then the mean of
Eﬁ azr b?.’ CE ai[ T'le m‘ a:f b':", cz |S |
(A) M? (B) 3M?2 | (A) M7 (B) 3M?
(C) 6M? (D) 9M?2 (C) 6M? (D) 9M?
94. ATHT1:2% Wﬁg, e v 94. Two numbers are in the ratio of 1 : 2.
7 SE1 SR A I U 3 ¢ 5 8 e If 7 be added to both, their ratio
58 _ changes to 3 : 5. The greater number
gl H 9 §51 9T § - l H
(A) 28 (B) 20 (A) 28 (B) 20
(C) 24 (D) 32 (C) 24 (D) 32
SET-A [32]




95.

96,

97,

98.

_:_ —— -

20 TERN & HI T, x TR & fawa
T & SRR 8 TfE @y 25% & ar x &
o 8N -

(A) 25 (B) 18

(C) 16 (D) 15

gic fag A 9 B 9 ST H IS BR DI
e 60 T4, /8eT 81 9T B | A d® au™
A 9T 40 foay. /der |, dr 3ud BR
B! 3ie @er foeu. /eer #F anft-

(A) 60 (B) 50

(C) 40 (D) 48

UH Sfth ol & 819 @I e # g @ 8
fooar. /et @ TTe & WaT @ 9T 9819 &
fauRia 6 fo5ar. /geT @t T || T & TG
@I Tifcr fosa, /eer # &nit-

(A) 1 (B) 2

(C) 4 (D) 5

45 @t & fHsoT |, gu 99T 9 &1 3R
3 : 2 gl fobam urlt 3R faemr s b

AT 9 : 10 & JR?

(A) 10 @M. (B) 17 .

(C) 15 @l. (D) 12 &.

SET-A
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95.

96.

97.

98.

XIX-1

The cost price of 20 articles is the same
as the selling price of x articles. If the

profit is 25%, then the value of x is - |

(A) 25 (B) 18

(C) 16 (D) 15

If your car runs from A to B at 60 Km./
hr. and on returning from Bto A, it is 40
Km./hr., then average speed in Km./hr.

of your car will be -

(A) 60 (B) 50

(C) 40 (D) 48

A person can row with the stream at
8 Km./hr. and against the stream at 6

Km./hr. The speed of the current in Km./

hr. is —
(A) 1 (B) 2
(C) 4 (D) 5

In a mixture of 45 litres, the ratio of

milk and water is 3:2. How much
water must be added to make the ratio
9:107?

(A) 10 It. (B) 17 It.

(C) 151t (D) 12 It.

P.T.O.



, XIX - 1
99. W al3g, AN &I 20 @ far | 99. A father is twice as old as his son. 20
319 G W 12 T[T IHeToT 7| 1 &) M years back, he was 12 times as old as
39 8Nt - the son. What are their present ages?
(A) 24,12 (A) 24,12
(B) 44,22 (B) 44,22
|
(C) 48,24 (C) 48, 24
(D) 394 ¥ P & (D) None of these
100. 8% qfYD DI X A 2 10,000 &1 9 HIE &I 100. How much interest will ¥ 10,000 earn
157 81T - in 9 months at an annual rate of 8% -
(A) %450 (B) T475 (A) %450 (B) %475
(C) %500 (D) T 600 (C) %500 (D) %600
101. gfe 3x?-6x+a, TFD x-2 ¥ fFulda ar 101. If 3x*-6x+a is divisible by x-2, then the
ST &, ) 'a' & °E B - value of "a" will be -
(A) 6 (B) 8 (A) 6 (B) 8
|
} (C) © (D) -2 (C) "> - (D) -2
102. A 3idi B HoT fba T & 5 6 102. How many three digit numbers are
qufe: fawfaa & s & - divisible by 6 ?
(A) 196 (B) 149 W0 i B
(C) 150 (D) 151 | (C) 150 (D) 151
l
SET-A [34]




103.

104.

105.

U da § 20 B Hifae f9s=, 17 nivE,

12 9ifae fasm qem nfvra = ugd &1 10
B3 3 fawa ugd &1 e | el fbe

B &7

(A) 52 (B) 35

60 (D) 42

(C)

afe 11 + 21 + 3! + ...+100 ! DI 6 H 9AT
fear s, a1 SNwE &N-

(A) 3 (B) 14

(C) O (D) 5

3 qal & fore Pt 7 et &1 ual Y P
fea= UBR A WRT 1T bl & -

(A) 120 (B) 130
(C) 100 (D) 210
106.afc ga @ uRfer T &=wa &1 3Mifdd 7=
SR B, d7 U & Hifhd A BNTI-
(A) 1335 (B) 2 3@l
(C) 433 (D) n &R
107.3C 3Mad B! e ®I GRAT G201 TIEE B
amen fhar S, aF 99 A B AT
fopae wicera a¢ ST -
(A) 50% (B) 0%
(C) 100% (D) 150%
SET-A
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103.

104.

105.

106.

107.

XIX-1
In a class, 20 students opted for Physics,
17 for Maths, 12 for both physics and

maths and 10 students for other

subjects. The class contains how many

students?
(A) 52 (B) 35
(C) 60 (D) 42

What is the remainder left after

dividing1!'+ 2! + 3! + ...+100 ! by 6 —

(A) 3 (B) 14

(C) O (D) 5

There are 7 candidates for 3 posts. In

how many ways can the posts be filled-

(A) 120 (B) 130

(C) 100 (D) 210

If circumference & area of a circle are

numerically equal, then numerical value
of diameter is -

(A) 1 unit (B) 2 unit

(C) 4 unit (D) munit

If the length of a rectangle is doubled
& the breath is reduced to half, then
the area of the new rectangle goes up
by -

(A) 50% (B) 0%

(C) 100% (D) 150%

P.T.O.
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108. B9 & TP U &1 GRAM 20 /. & &

109.

ZH®T A BN -
(A) 250 cm? (B) 1000 cm?
(C) 400cm? (D) 125cm?

FrafoRea R dafe B: 2c22:3 &
/B & {9 81 -

(A) 65° % D
130°
(B) 520
(C) 78°
< C
(D) 130°
110. TP g9 & Bzar 13 0. Fo1 Sue v
Sitar @ ears 10 Y. &1 Shar & g »
Bs q & -
: (A) 12 =T, (B) 9 3T,
(C) 10 &I, (D) 15 T,
'7 111.a%t2—4t+1=0%‘,?ht3+ti3aimm
St
(A) 44 (B) 48
(C) 52 (D) 64
112, v T3t & 99 g At ert =)
& Raamar mar & -
(A) o fafer
(B) wanr fafer
(C) (A) 1 (B) 2
(D) B9 § BIE =&
SET-A
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110.

111,

112,

XIX-1

108. The perimeter of one face of a cube is

20 cm., then its volume will be -

(A) 250 cm? (B) 1000cm?

400 cm? (D) 125cm?3

(C)

In the following figure, /B : 2/C = 2:3,

then value of ZB will be -
(A) 65° D
(B) 529

(C) 78°

(D) 130°

The radius of a circle is 13 ¢cm and the

length of one of its Chords is 10 cm.
What is the distance of the chord from
the Centre -

(A) 12cm.
(C) 10cm.

(B) 9cm.

(D) 15cm.

If t*?- 4t + 1 = 0, then the value of

t3 1 '5{3— IS -
(A) 44 (B) 48
(G). 52 (D) 64

Which method is used for counting
numbers -

(A) play method
(B) experiment method
(C) both (A) and (B)

(D) None of these




3 6 2

114,

115.

116.

wforg ferms § 3reas & foe Hiq o e
o= & @ o ar sifée Rgra a=xar -

(A) UTTaw] @I g

(B) 3R g gHEar &1 Rigrd
(C) (A) T (B) &l

(D) & & 5 el

Tfora sifer & sde & e B #
AP E -

(A) UTEHaE] B Mg
(B) aiferm &1 Rigr
(C) u&rdl &1 g

(D) Fegerar &1 Rigr

= 8 9 nfog st d W@-3ndea &
D & -

(A) BHEH AT

(B) AT HRH]

(C) g-faweimur
(D) 39 |

=7 # 1 Tiforg Rvem &t g e &
(A) eI il

(B) YRUEE WIS BT YU
(C) (A) @ (B) =i
(D) T | Pig &l

SET-A

113.

114,

113

116.

XIX-1

Which of the educational principle, is

functional as foundation for the
assessment of mathematical learning -

(A) Principle of content
(B) Principle of learning & equality
(C) Both (A) & (B)

(D) None of these

Whi'ch of the following is NOT the

principle of assessment of Mathematics
learning-

(A) Principle of content
(B) Principle of learning
(C) Principle of partiality
(D)  Principle of impartiality

Which of the following is the

Mathematical technique of self-
assessment-

(A) toenquiry
(B) tocompare

(C) self-analyze

(D) all of these

Characteristic feature of Mathematics
education is -

(A) exact expression

(B) use of clear language
(C) both (A) and (B)

(D) None of these

P.T.O.




Wit 1
117 [uz 2x3 70" +49:~:50J
@I H4 8NT-
(A) 49/50 (B) 1/5000 |
(C) 51/50 (D) 101/500

118. T 2020 # 53 fGaR B P wRrpar 2

(A) 2/7 (B) 1/7
(C) 6/7 (D) 52/53 |l
119. TR N :
1+ 1 5 Il
1+
3
2+
1+ E
5
f i | 5
(A) 17 (B) 1 17
6 21
(C) 1 17 (D) 1 17

1 1 |
120. gfe a?+b2=45 FAT ab=18 aq} —+—

a b
21-

(A) 5/7 (B) 7/8 |

(C) =172 (D) #1/3

SET-A [38]

XIX -1

117. The value of

’: 1 + 1 + 1 5 8 4 1 J %
1x2 2x3 3x4 ' 49x50 will be -
(A) 49/50 (B) 1/5000
(C) 51/50 (D) 101/500

118. The probability of 9eing 53 Sundays in

year 2020 is -
(A) 2/7 (B) 1/7
(C) 6/7 (D) 52/53
119. Simplify -
1+ .
2
1+ -
3
2 3
1.4
5
11 5
(A) 1 17 (B) 1 17
6 21
e 1 —

120. If a*+b*=45 and ab=18, then the valye

fl.i._l :

0 2 B>

(A) 5/7 (B) 7/8
(C) +1/2 (D) #+1/3




UA1aRYT 3eTT XIX -1
Environmental Studies

121. 397 Hica<Ng 41 ¥ =&l Yrar 3 g 121. This is not found in tropical forest :
(A) TTHE (A) Teak
(B) 3IORA g3 (B) Iron wood
(C) Sre (C) Shorea
(D) dB (D) Pine
122, g‘@ﬂ'{ﬂ'ﬁ:ﬂ' P & DI T &2 | 122. Which one is the tree of coniferous
forest?
l (A) dia
(A) Shorea
&), S5 | (B) Spruce
(C) WenHT (C) Mahogan
(D) @dER (D) Cedrus
123. 3[EHRI aier i faare 3 e a3 & 123. Almati Dam water conflict related states
are:
(A) 3T YeYl, BACD vd HERTS (A) Andhra Pradesh, Karnataka and
Maharashtra
(B) @Hicd, HERIS Ud JSI , (B) Karnataka, Maharashtra and
Odisha
(C) dfHeTg, HHfcd Ud ISIT (C) Tamilnadu, Karnataka and Odisha
: (D) Odisha, Andhra Pradesh and
(D) JSHT, 317 We3T Ud BACdH et
124. Haed yaidd 39 dleaed & : 124. Most common bio insecticide is :
(A) 3D (A) Calotropis
(B) oqXT (B) Datura
(C) =M™ ' (C) Neem
(D) aqd | (D) Babool

‘ 125. Which of the conceptual spheres of the
125. qaiavvl & fpd doiR® &3 # e & foe
: - environment is having the least
RIAGH YSRUT &l &7

E .

storage capacity for matter?

(A) drRIAUST (A) Atmosphere
(B) RICTHUSH (B) Lithosphere

(C) JEHUSH (C) Hydrosphere
(D) aaues (D) Biosphere

SET-A [39] P.T.O.




126.

127.

128.

129. YA® a¥ ‘v feaq v mar &

SET-A

ve TRRfas a7 F T3t yare &

HE g B T F B Bl

(C) wiRRerfis 7@ & Foif &1 gedeor
gl 2

(D) wau ufcbem # ot Jemfod A &1 |

$.3115.0. & [T 91 & |
(A) FAIGTHE U8 3UERTd UaT |
(B) g<rR=Hc tvs sWige efdcfafcw
(C) S<ORR=HC HidT 3R¥HvE

(D) SaRRHcel 3wve vigefafe

(A) 537
(B) 22 3t

(C) 23 9g&R
(D) 26 I

[40]

126.

127.

128.

129.

XIX-1

In an ecosystem, the flow of energy
IS:

(A) Bidirectional

(B) Cyclic

(C) Unidirectional

(D) Multidirectional

Which of the following statement is

false:
(A) Inorganic nutrients are recycled

in an ecosystem

(B) Energy flows through the ecosystem
in the form of carbon - carbon
bonds

(C) Energy is recycled in an ecosystem

(D) Respiration process releases
energy

EIA can be expanded as :

(A) Environment and Industrial Act
(B) Environment and Impact Activities
(C) Environment Impact Assessment

(D) Environmentally Important Activity

‘Earth Day' is celebrated every year on:
(A) 5 June

(B) 22 April

(C) 23 November

(D) 26 January




N S

-130. e frey wereqor (RSN, ST

¥ 5 st @ siftrdar & BROT BT &:
(A) ®IPT
(B) WX
(C) 3I®
(D) TBgGT

131, O & IR # wRIREEY @ sty Wierd

T &

(A) 1.00 firam. ufe &ex
(B) 1.25 for.am. wid @iex
(C) 1.50 fr.am. wfa @z
(D) 1.75 fir.am. wfd @iz

, 132. 2311 UF 31 FaR & BRI &
(A) @9
(B) fasoy
(C) Sfa

(D) ®dd

133. 5= ¥ o 91 Tplde @S Tel &

(A) 3cE
(B) THdd
(C) BT=%C

(D) =ETioH

-

134. FAEgH R0 fear Fd &
(A) fos@ o9 9
(B) i@ sia] |
(C) 3IR®H
(D) IRiG T
SET-A
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132.
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134.

XIX-1

Blue baby syndrome
(Methaemoglobinemia) is caused by the
contamination of water by:

(A) Phosphates

(B) Sulphur

(C) Arsenic

(D) Nitrates

The maximum allowable concentration
of fluorides in drinking water is :

(A) 1.00 mg per litre

(B) 1.25 mg per litre
(C) 1.50 mg per litre
(D) 1.75 mg per litre

Cholera and typhoid are caused by:
(A) Worms

(B) Virus

(C) Bacteria

(D) Fungus

Which of the following is not a natural

mineral :

(A) Asbestos
(B) Feldspar
(C) Phosphate
(D) Nitrogen

Nitrogen fixation is done by :
(A) Lightening

(B) Fixing Bacteria

(C) Fertilizer

(D) All of these

P.T.O.




XIX-1

135. WRA H YW Y@ GAiaR0T TREf07 3ifeifam 135. The first major Environmental Protection
forer e foar wa : Act to be promulgated in India was:
(A) SfeT 3rfertaH (A) Water act
(B) drg sifefm (B) Air act
() uafaRor siférfram (C) Environmental act
(D) eafsy 0T e e (D) Noise Pollution act

136. 35 WRd @ Hieri A 3 & 136. Ozone layer thickness is measured in: |
(A) dLd. em. H (A) PPM
®) G 3 o
(C) SHaed | (C) Decibels
(D) SIeq 3P | (D) Dabson units

137. qaiasor S=evr st sttt o 137. Environment Protection Act was

enacted in the year-

TgT 47 -
(A) a4 1986 H (A) 1986
(B) @9 1992 # (B) 1992
(C) oY 1984 # (C) 1984
(D) a§ 1974 (D) 1974
138. TAfhd a1e oo Jamit (3%; 3 oar) 138. The rn:.-iin objectives of Integrated Child
g Development Services (ICDS) are:
o e e
(A) yfeRen (A) Immunization
_ ‘ (B) Health checkup and referral
(B) WA g vd RwiReN dar) sl
(C) qawgen vd SrtaRe e (C) Pre=school and nonformal education
(D) 3IWIGd T (D) Allof the above

SET-A [42]




139.

140.

141.

142,

7S .0, 31. 14000 A T &:

(A) FGHOT HEE
(B) FINgH U§eH
(C) YgfaRur yEe
(D) 3NN & DIy el

OR Fat Gufed &l § :
(A) DEH-PET §9 |
(B) & ufear ®
(C) 3itareH 3e= 4
(D) FHT &I H

uel U6 WIell R W & 8, Ifed &Y
A% Ped ¢ :

(A) UIRRRIGS &=

(B) e

(C) I

(D) URWRS F&aM

TgfaRUT e & f1ed & BT H 39

T @ SR & 39 & dleHr &1

2| 3 gl @ FefolRea & & @ /@

THEY B D SHld el ol

2) ffsaR & SFERT & foe agd art
T B FHA & ST

ffeamnR # fafte sFeR ®F a1 s

F1d 8, I8 Ual @l

TR ¥ 59 el @ 9 a@T,

D! Plel THAd Bl

o & 38R 3 & 39@ o

1 & e 39 3BT & I Bl

I & ST

\8)

(C)

(D)

SET-A
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139.

140.

141.

XIX-1
ISO-14000 standards is related to :
(A) Pollution management
(B) Risk management
(C) Environmental management

(D) None of the above

Solar energy is stored in:
(A)
(B)
(C)
(D)

Carbon-carbon bonds
Green leaves
Fossil fuel

Biomass form

Some Organism living in a vacant lot
include grass, dandelions, mice,
grasshopper and slugs. Collectively
these are known as .

(A)
(B)
(C)
(D)

Ecosystem
Community
Population
Mutualism

142. As an EVS teacher, you plan to take

the students to the zoo. Which of the
following activities would you not allow

the students to undertake?

(A) Take along lots of eatables for the
animals at the zoo

Try to find out the food taken up
by different animals at the zoo
Collect photographs of the
animals they expect to see at the
Z00

Take their drawing books along
with them to draw what they see

at the zoo

(B)

(©)

(D)

P.T.O.



143.

144,

gl O T A W&t & SR ADSr a1 MR &

30 BT FUT ST B g¢ Teg | GHI

gorl &l fUge aF 7eFl | 37 ds @il

3 I &, AP PROT &1 Hal & -

(A) 3U9 o5 FeH | IJANcd Hra
QGRS S 393 3999 el § T
SRR

(B) Sieid §¢ $UH W Ieuriad e g3
S 39 vaEd qelt H I & IR
&I

(C) 3ol &P 3691 & g0 & 3 Ul &l
TS gt

(D) IHD RS B 3R AR TE HEHoT

AT JGIaRIT

GATaRUT e B Uod-JEdd § Ugferd
e &R &I F=fciaa § | dF w1
3899 TRl &7
gl H ST Toia- T faa e
AT

gl # ad 9iftp ®I faorg &Ar

(A)

(B)

g & Aas & 9fig axar 3k
3% 39 UH &I 319< 36 o

(C)

oI faa @ araar 3R Il
&1 faer &=

(D)

SET-A

[44]

143.

144,

XIX-1
Durga lives in a village and cooks food
on a chulha (earthen stove) using wood
and cow dung cakes as fuel. She has
been suffering from severe cough for

the last three months. This may be due
to the-

(A)

Carbon monoxide produced by
burning fuel which may have been
deposited in her respiratory tract
(B) Soot produced by burning the
fuels which may have been
deposited in her respiratory tract
(C) Smoke produced by burning fuels
which may have caused her
allergy

(D)

Old age and pollution inside and

outside her hut

Which one of the following is not an
objective of including riddles and puzzles

in the EVS textbook?

(A) To develop critical thinking ability

in students

To develop reasoning ability in

(B)
students

(C) To confuse the mind of the

students and let them enjoy the

confusion

(D)

To develop curiosity and ability to
think creativity




145, 2R P WNSAGHIY & FIE TATAROT 3T

Yo THT 3T UK § {6 B ule H B

T8 of @ &, 3 &1 HAN?

(A) T P Bor & fore e #Haq | o
STIY

(B) 3% 39 RR & 3% W & 3R
IRM & & e Bel

(C) UG B eId § o fore fafaer gl
R 3NENRT 312 9T HES Bl 394N
el

(D) foug @I dbie daeil

¥ fo <ar & 3R 3 IaRi & R 6
IR B BEal © il gAR Wi H el &
9 foban BTy BT BT &

(a) G & [dBr bRl

(b) 3ECHA Bl GBI BAT

(c) ifaRor Pl 31 R FR
(d) STl 98 & fdbRT &

IE § ¥ oF-9 Fhl 8?

(A) a, c3Rd

(8) a b3iRc
(C) a, b3iRd
(D) b,c3iRd

SET-A [45]

145, After the lunch break, while teaching

146.

XIX-1

EVS, you find that students are not N

taking interest in the lesson, what would

you do?

(A) Take children out to play in the
ground

(B) Askthem to put their heads down

on the desk and relax

(C) Use audio visusal aids based on
multiple intelligences to make the
lesson interesting

(D) Change the topic immediately

A teacher gives pictures of different

S——

animals to his students and ask them
to colour the picture of the animals that
do not live in their houses. The objective
of this activity is to develop :

(a) creativity

(b) observation

(c) classification skill

(d) data collection

Which of the above are correct?
(A) a,candd

(B) a,bandc

m_—s—m—

(C) a, bandd

(D) b,candd |
P.T.O.




XIX-1

147. W9 3 fog grar mar - 147. First Ozone hole was found over -
(A) IRl gd b IR (A) North Pole
(B) 3CTHIcH & TR (B) Antarctica
(C) 3HIPT & FR (C) Africa
(D) aféror ga & IR (D) South Pole
148. FIa1aoT & 3Medr |14 3 & - 148. Atmospheric humidity is measured by - &
(A) WIEHRER Rl (A) Photometer
(B) ERUAHIER ERT (B) Hygrometer
(C) WITHIER GIRI (C) Potometer
(D) % ¥ B el (D) None of these
149, T ¥ 377 wguOT B Fowd gfti W W 149, The water pollution in a river is measured
AT FET ' - by the dissolved quantity of -
(A) TR (A) Chlorine
(B) 3 (B) Ozone
(C) ggIoH (C) Nitrogen
(D) 3T (D) Oxygen

150. = & & 39 it fer oRRefeeE! 150. Which of the following is the most stable

dJaE - ecosystem-

(A) o (A) Forest

B) fram (B) Desert

(C) Ut (C) Mountain

(D) e (D) Ocean
SET-A [46]




XIX-1
ROUGH WORK

T® &

T AL

-----

[47] | - P.T.O.
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8. W W1 61 ¥ 90 db & YT U fEha-

feal 3rar 3 3rmaT Hvpd JrmEl 3% 3
T | 38 3§ BadT Ub HIST & UIT o
ST Tl & 9 H 8T B 21 30l amdesy
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10. 999 &A1 121 ¥ 150 96 & Y9 ggiaRor
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1. X% B ye-gRasr & Fide = w® fear
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13. 3I0PH03IRO 3R T @ A1 & 3k 7 2
foer TPR I Rpd |

14. TRI&T TG B9 W 3N0CHO3RO 7R U390
B! & FRIeE B 3rawg g & anafl
IR TG DI Hle GfT vd Fe-GReedT 30
A o S @ 3R 2

XIX -1

6. Question Nos. 1 to 30 are related to Child
Development and Pedagogy.

7. Question Nos. 31 to 60 are related to First
language - Hindi OR English. Candidate has
to select the questions of only one language as

the First language. Answer the questions of the
language which the candidate has selected as
First language in his/her application form.

8. Question Nos. 61 to 90 are related to Second
language - Hindi OR English OR Sanskrit OR
Urdu. Answer the questions of only one
language which the candidate has selected as
Second language in his'her application form.
Be careful that the language selected as First

language cannot be taken as Second language.
9. Question Nos. 91 to 120 are related to
Mathematics.

10. Question Nos. 121 to 150 are related to
Environmental Studies.

11. Rough Work can be done in specified space of
the Question Booklet.

12. Do not waste time in solving the questions. If
you cannot answer a question, proceed to the

next one.

13. Do not fold or damage the OMR answer sheet

any way.

14. After examination submit your OMR answer
sheet to the invigilator. Candidates are allowed
to take away the carbon copy of OMR answer
sheet and Question Booklet.




